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dit_segment_slope vs run

1.6 pO
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reg_asym_saml_diff_bpm1X_slope vs run

X2 / ndf 100.2 /76
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reg_asym_saml_diff_ bpm4aY_slope vs run
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reg_asym_saml_diff_bpm4eX_slope vs run

X2 / ndf 91.39/76
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reg_asym_saml_diff_ bpm4eY_slope vs run
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reg_asym_saml_diff_ bpm12X_ slope vs run

X2 / ndf 25.51/76
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reg_asym_sam2_diff_bpm1X_slope vs run

x2 [ ndf 60.01/76
pO -36.82 + 2.792

TN <O NN ORD WSS “hen U Ot LS 0ot oS S SN XD 0% LA 00K LROE0 SN ORED NtD

000 oSS <Kif GO0 @OLS NFS [To'c's) @EC @BE0 IR NS0
L) L0 @aao @O e} GOOO GO SO0 CBBO
[se) [S el oMo [ee) [e 0] 0000 C0OTO 00000 C0OO
@O @0 Relce] @O @O @AO @O0 (@O0 @O

— pull

= 77
E -160.2
E 196.8

22

20

18

16

14

12

10

[

1

III|III—|III|III

Std Dev

an  -0.08431

0.8787

-8

Livilin
€ 4

-2

0

2

4

|III
6

8




reg_asym_samz2_diff_bpm4aY_slope vs run
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reg_asym_samz2_diff_bpm4eX_slope vs run
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reg_asym_samz2_diff_bpm4eY_slope vs run
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reg_asym_samz2_diff_bpm12X_slope vs run

x2 | ndf 29.13/76
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reg_asym_sam3_diff bpm1X_ slope vs run
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